EARAROBEEIERT — 2 N— IBISH —F

201952H3H (H) 20E1AE2H

mf':'l%”é%" Cl1 #¥5%4mt \ (%] \ [EEism]  — | 4 (£) 14000 FE
[AE£] 17 :240,000 " ~ 23%&:72,000 M 33 :24,000” 43 :14,000 M . 57 :10,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
_ N [i[mE} :29. -1-1- . — FURS (&EH)
1 2 FA T LEIN— o4 B0 1(2_9)1 1-1-1-1 38.6 2 ?8; pA=r g8
RixAvavk—5— B:FAILITY> 2T FHE
7 = 5 44 | AR 1:29.6 3-3-4-2 |38.7| — 1 492 | =/EEA (EE)
2| 1|1 |FA*1T47— 5.0 2172 o | EEE-
L:FAXT7T174 8 BNLESRYKRY AR A&
Sy RS 4 5 | HREA 1:29. 4-4-2-3 | 38.8| — 4 486 | WWER (£H)
315]5 t,{h7,/7 56.0 (7E) (1) | REEFT
R:TTvIEAF BioU—LEAF— L=kie
S 5 o4 | AR 1:29.8 5-5-5-4 |39.5| — 3 470 | HEE (£E)
4188 Hho /A=A 56.0 (1/2) ) AT
L:N—pNK B:I7I0vF [s3ctier]
o q s N WITaE :30. —-2-3- . — BART (£8)
s 4| T r - i 5 s 1(340)6 2-2-3-5 |39.8 5 (4;6) é%ﬁﬁT "
LT RIA Y L= BNIHFILY ZYHLIT— I
vy > i 6 | RERZ 1:30.7 7-7-6-6 | 38.9| — 6 438 | WTFEX (&%)
Y 6 IR 54.0 (1/2) oy | ® 3 P N
LG E—y B:TU R N2 T — s
. = o7 =i 1:30.9 8-8-8-8 [38.2| — 7 490 | LIEZEA (£R)
7 7 A1) 7.'-)|/7Z9_ 0 (1 1/4) (+5) AfaL Rl -
LN=YT774 B:ZANXRYFIIS=) (B) #BA3—-RKL—va>aE77
N = HIAKIRA : —6-7- — FIIEF (BR)
N - R EE 2L o9 Agm 1.(331).5 6-6-7-7 | 39.7 8 (4_518) iy ;}
LT w TRy b BTy iNZ Ay () #8a—-FL—->a>@qE77
® I —F—@EBIERL
1a—4— 2,4,1,5,8,3,6,7
Aol=5r= 2,4,1,5,8,3,6,7
G§a=7r= 2,5,4,1,8,6,3,7
41—+ — 2,1,5,8,4,6,3,7
[ RN
B OB 2 310H 714K 1-2 140H B E 1-2 160 &R 1-2-5 590MH
8 B 2 110 2-5 350M B H 2-1 500 JEH 2-1-5 1,980M
1 1004 1-5 250M
5 1504

ABICOVWTRDTEEERROODE. TR LIV,




